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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udignedl Gauem 31U+ U9 U= W A SAtHera: ford |

Candidates must write first his / her Roll No. on the question paper
compulsorily.

2) uWfi U o e E |

All the questions are compulsory.
3) Yk U¥H T ITW & TS IW-Yferent | & ford |

Write the answer to each question in the given answer-book only.
4) o v o i @uE §, 37 @it o W U | g o)

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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6)

7)

8)

9

2
YU % <t 9 SISt TR | foredt weRR i e / e / forien e g W et W 6
T < € | A

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

ur Y T 3 TeH T
A 1-10 1
q 11-15 2
| 16 - 25 3
g 26 - 30 6

Part Q- Nos. Marks per question

1-10 1
11-15 2
16 - 25 3

o O w »

26 - 30 6
Iy T 27 9 29 | A farehed gl

There are internal choices in Question Nos. 27 and 29.

U SR-Yferert & USt o g1 3R foRaw) afe @6ig 1 & e @, @ Sw-gier &
3ifem gsi W 3R 32 foRest eimet | wee 3 W T % form 3

Write on both sides of the pages of your answer-book. If any rough work is
to be done, do it on last pages of the answer-book and cross with slant lines
and write ‘Rough Work’ on them.

U9 SHATH 26 1 @ UTH UOR W S150|

Draw the graph of Question No.26 on graph paper.
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2)

3)

4)

5)

o - A

PART - A

= fiRaem =1 y@w & 105 1 i 7@ i)

Find the square of 105 by using ‘Sutra Nikhilam’.

= arfiemm @ g e At
2(x+2)=7(x+2)
Solve the followingequation:

2(x+2)=7(x+2)

[1]

(1]

3 TS H PUHEA 1296() 2 T HEHH FHISGE 18 F il g e 7 sifel[1]

If product of two numbers 1542960 and HCF is 18 then find their LCM.

UM [ iU - 3 cos 30° — 4 cos® 30°

Find the value :- 3 cos 30° — 4 cos® 30°

sec36° sec54°

- 1 HF T i)

cosec54° cosec36°

sec36° secS54°

Find the value of c05ec54°  cosec36° -
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6) ToreRt Bt o vfiet @ wwgwey fog fofau) [1]
Write the point equidistant from the vertices of the triangle.

7) 5 o e o g9 % @ 13 w6 g W e fag @ it w8 wavt Yen i e Jw
Hit| [1]
Find the length of tangent of circle with radius 5 cm drawn from the point 13 cm
away from the centre of the circle.

8) T U Rl Wiehd W4’ W BIeT ek 3T <hi TIhdl ATl hIfeTU| [1]
In a throw of ‘adice, find the probability of getting a number less than ‘4’.

9) arEAl & o smavaes 0. g, | gu am fafem) [1]
Write the full name of P.U.C. which is essential for vehicles.

10) Tt @R 3 fore ® wgen, 6 fe § gEw, 9 fime # diem A fwe uR wd g, @ ag 13 &
et forem wa © UR T ? [1]
A car passes through first signal in 3 minutes, second in 6 minutes, third in 9
minutes. In how much time it passes through 13" signal?
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PART - B
11) o3 wraed snenfa fafe @ i =& ga hik) [2]

14885 +123
Solve the following by using ‘Sutra Paravartya’.

14885 +123

7
12) ufma s=n 20 T YA THR | ¢ a1 3391, 31 | foen v ufshan o Sua o 3

Hifu) [2]

State whether the decimal expansion of a rational number 20 1S terminating or non

terminating recurring. Without performing the long division method.

13) 14 =, o o ga & Breorave gr g W emafa wivr 90° 21 91 & &g Bresrave & = i
TS T i [2]

Angle subtended at the centre by the sector of a circle with radius 14 cm is 90°.
Find the length of the arc of the minor sector of the circle.
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14) U I & NUR * AW 14 Hier iR fodier Farg 25 Hiex @ @t vigh 1 AUt UsiE &5 [

HifTu) [2]
Find the total surface area of cone whose diameter of base is 14 m and slant height
1s 25 meter.

15) U g 9 § Hier I TEH o NN W A At FHN 36 TR @ W@ g R 10 Wi | gfe
TG A AT S AT Hhedl 2| T o TR SR WSTe g fAfta SRR 89 st e

fif (7=3.14) [2]

A CCTYV camera has installed on the top of a straight pole of 8 meter height such
that forward traffic can be seen from the line of sight of 10 meter. Find the area of

circular path formed by shadow around the pole. (7 =3.14)

f L] S |
PART -C

16) fgom agug &2 — 2x — 15 o Ik I T IR 36 SgUS o IEAhi a1 TUTEh & AT Tl
H T 6 Aig i) [3]

Find the zeros of a quadratic polynomial x* — 2x — 15 and verify the relationship
between the zeros and the coefficients of this polynomial.

17) afe foret TmT=m SIdt & g 3T e Ug shAwT: 24 a0 28 g dl, SIdt & uget 61 Ugl 1 anTwHe
@ S| [3]

If second and third terms of an A.P. are 24 and 28 respectively, then find the sum
of first 61 terms.

18) U 12 Hiex 3o Ug a1 gal | 36 UHR 2 AT ¢ foh 3Tt v Sifia st 97 oRmen @ SiR wwfia
% |1 30° <1 HIUT ST 2| A g © U, WA | fRaet SeE | g2, Jm i) [3]

A vertical straight tree 12 meter high is broken by strong wind in such a way that its
top touches the ground and makes an angle of 30° with the ground. Find at what
height from the ground did the tree break.
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19) w= & snem BC w & fiyst AABC wa ADBC &+ €1 afg AD @ BC w&R O W ufiesg i
at forg Fifom ok -

AABC migmwar  AO 3
ADBC migmwat DO 3]

AABC and ADBC are at the same base BC. If AD and BC intersect each other at
O then prove that -

area of AABC AO
area of ADBC DO

20) &t 7§ s fa & wg¥sw ABCD ® AB = AC =+AD =, @t fag sifwu &
Z/BAD=2(/BDC+ /CBD}. [3]

"

In the given figure a quadrilateral ABCD have AB = AC = AD, then prove that
ZBAD=2(£BDC +£CBD)

7
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21) AABC & 4= BC i ue g farg P W aTey Tavi o 8 aen or &t qniait AB @ AC &t

TEH W HA: fag Q @ R R wawt o g, it g <hifrg fon AQ=%(AB+BC+CA)
[3]

A circle touches the side BC of AABC at point P externally and touches other two
sides AB and AC when produced at point Q and R respectively, then prove that

AQ:%(AB+BC+CA).

22) AABC % uftra o= it o1 hifste, wafes BC = 6.8, AB = 5 @t 3k £B =60° g

[3]

Construct a ‘cirecumcircle of AABC, such that BC = 6 cm, AB = 5 c¢cm and
ZB=60°

23) Uk g i Broen 21 At e Sitan g1 S TR ST=Aid Shivt 90° 21 39 St gRT o 7Y JeeEve
W GAEHA @ i) [3]
Radius of a circle is 21 cm and angle subtended by a chord at the centre is 90°.
Find the area of the minor segment formed by this chord.

24) U o 1 Men Tk Breen 9 |t 2, A fUoee 3 @t Breen sik 6 |, S & fRan
AT TAT0 ST Tehd 87 [3]
How many cylinders of radius 3 cm and height 6 cm can be formed by melting
sphere whose radius is 9 cm?
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25) ww S H 5 Ahe, 2 A1 o 3 el 72 31 36 Ot # @ U e angesan Rl S 31 3eh @
M g R Rt e . Huill [3]

) e
) A
i) @wTER

A bag contains 5 white, 2 red and 3 black balls. From this bag one ball is drawn
randomly. What is the probability that the drawn ball is

i) White
i) Red
iii) Black
ha Ll
PART -D
26) T e wfiertor g w1 srerEE iy g g PRl [6]
4x — 5y =20
3x+5y=15

T TEEAT | 1’ 1 W @ <hITe Fateh 4x + 3y = m

Solve the following pair of linear equation by graphical method
4x — 5y =20
3x+5y=15

With the help of this find the value of ‘m’ while 4x + 3y = m.
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27) fag S [6]

) I-sinA ) 1
) 1+sin A secA + tan A
i) (sin@ +cosec6’)2 + (cos@ + secé?)2 =7 +tan’ @ + cot’ @

Prove that :

) l-sinA | 1
1) 1+sin A sec A + tan A

i) (sin@ +cosec6’)2 + (cos@ + secé’)2 =7+ tan’ @ + cot’* @

JUE/OR
firg Ak [6]
)  cos*@+sin'@=1-2cos’Gsin’ @
2 =
iy cotA—tanA= M
sin A COSA

Prove that :
) cos*'@+sin*@=1-2cos" @sin’ @

2cos’A—1

iy cot A—tanA =—
sin A cos A

28) 1) x-ot W g fag w it St famgatt (<2, 3) 9iR (=3, 4) & wwE g W o 2
Find the point on x-axis which is equidistant from the point (-2, 3) and (-3, 4).
i) Tergei (11, 8) 3R (1, 3) =t foretm aredt e it fog (7, 6) Torer s1guma # fawniora shtan
27
In which ratio, point (7, 6) divides the line joining the points (11, 8) and (1, 3).
[6]
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29) fag hfTE foF T AU GRT 9@ & g W FARA HIUT I ok AW HET & et forg W eraia
SRIUT ST ST Bt 2 [6]

Prove that the angle formed by an arc on the centre of the circle is twice the angle
formed at any point of remaining part of the circle.

3rar/OR
fag Aifse fr foreht s A U Y1 T W TR I SfEshivT S S wit %
TR T, T qg Tk h agH g 2| [6]

Prove that an exterior angle formed by increasing side of a quadrilateral is equal to
the interior opposite angle, then it is a eyclic quadrilateral.

30) T SRR 2R o HIgA & Sgeteh [ it [6]

Bl 0-10 | 10-20.{20-30 | 30-40 | 40-50

I 6 10 13 4 4

Find the mean and mode of the following frequency distribution -

Class| 0-10 | 1020 | 20-30 | 30-40 | 40-50

f;. 6 10 13 7 4
36 3t &b
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